Math 265B: Test 1 Take Home Name:

/15 points

o You may work with other students in the class but the final work you hand in must be your own. Your
answers must maich every step of your work; otherwise, you may lose most or all of the points for the
problem.

Please do not ask instructors, tutors or anyone else to solve these problems for you!
Do your work on separate paper and attach this page as a cover sheet. Make sure your work is clear,
legible and well organized. Work that is poorly organized and/or difficult to read will be marked down.

o The test is dug at the beginning of class on Tuesday 2/18/20.

1. Find the total force that the water in a reservoir exerts on a trapezoidal dam with the following dlmensmns
Height = a meters
Length of base = b meters
Length of top edge = ¢ meters
Assume the dam is fyll. Express your answer in terms of a, b and c.
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2. A series of circular gates that allow water to spill from the dam
are positioned in the lower half of the dam (see picture).

Determine the force of the water on the cover of one of these .
circular gates if the top of the gate is located 100 feet below the top
of the dam (again assume the dam is full).

The diameter of the gate is 4 meters.
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Note ThlS is the picture of a gate that was being worked on.
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